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Θεώρημα 10 (  μορφή 
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Παραδείγματα 

1. Να βρεθεί το όριο: 
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Λύση: Έχουμε 
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2. Να βρεθεί το όριο: 
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Λύση: Έχουμε 
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3. Να βρεθεί το όριο: 
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Λύση: Έχουμε 
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4. Να βρεθεί το όριο: 
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Λύση: Έχουμε 
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5. Να βρεθεί το όριο: 
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Λύση: Έχουμε 
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6. Να βρεθεί το όριο: 
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Λύση: Έχουμε 
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7. Να βρεθεί το όριο: 
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Λύση: Έχουμε 
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Θεώρημα 20 (  μορφή 
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Παραδείγματα 

1. Να βρεθεί το όριο: 
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Λύση:  Έχουμε 
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2. Να βρεθεί το όριο: 
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Λύση:  Έχουμε 
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3. Να βρεθεί το όριο: 
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Λύση:  Έχουμε 
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4. Να βρεθεί το όριο: 
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Λύση:  Έχουμε  
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5. Να βρεθεί το όριο: 
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Λύση:  Έχουμε  
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Παρατήρηση: 

Τα προηγούμενα θεωρήματα ισχύουν και για τις μορφές : 
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ΠΡΟΤΕΙΝΟΜΕΝΕΣ  ΑΣΚΗΣΕΙΣ : 

Να υπολογίσετε τα όρια:
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